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4,700,000 4,410,000 290,000
200 AI2l==2] 4,700,000 4,410,000 290,000
210 &N el 120,000 120,000 0
212 NEZEFY 60,000 60,000 0
212-08 JIEtAtEZ = 60,000 60,000 0
<ussdHFY > 60,000 60,000 0

O Sa LASd=Xt 60,000,000& » 14| 60,000
216 Ol Kt==& 60,000 60,000 0
216-01 S30=0I k== 60,000 60,000 0
<usSHHL > 60,000 60,000 0

[0 S303 OlX==¢ 60,000,000 = 14! 60,000
220 SAI NI+ 4,580,000 4,290,000 290,000
222 A0= 4,158,000 3,868,000 290,000
222-01 =NAH L= 4,158,000 3,868,000 290,000
< SHEDY > 4,158,000 3,868,000 290,000

O =NALN= 4,158,000,000& Al 4,158,000
221 RE=2 5,000 5,000 0
227-02 LEHRHE =S 5,000 5,000 0
< SHFL > 5,000 5,000 0

O A=xSE RLEFIE 1,000,000& * 54 5,000
228 J|Et==¢ 214,200 214,200 0
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O =EXeE BEHE 40,000& * 2004 96,000

O NSXH2EAL & SSERE BEH= 40,0002 = 100 48,000
228-04 HESAL0I#ZH= 8,400 8,400
<wsSHEYL > 8,400 8,400

O AHsI2sArS et a3 200,000& * 1A 2,400
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229 At Eo¢ 202,800 202,800
229-01 NtE == 202,800 202,800
<usHFY > 202,800 202,800

O REE 0101 UEHZE 50,000& = 1102 66,000
O =EXeE BEHZ 40,000& * 200AH 96,000
O AsxSsA Y 218 HEZ 200,000& * 124 = 2,400
O NSX A S5 2B WEHS 40,0002 * 80AH 38,400
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